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Glossary for Mark Schemes
GCSE examinations are marked in such a way as to award positive achievement wherever possible. Thus, for GCSE Mathematics papers, marks are awarded under various categories.

	M
	Method marks are awarded for a correct method which could lead to a correct answer.

	
	

	A
	Accuracy marks are awarded when following on from a correct method. It is not necessary to always see the method. This can be implied.

	
	

	B
	Marks awarded independent of method.



	
	

	Q
	Mark for Quality of Written Communication (QWC)

	
	

	M dep
	A method mark dependent on a previous method mark being awarded.

	
	

	B dep
	A mark that can only be awarded if a previous independent mark has been awarded.

	
	

	ft
	Follow through marks. Marks awarded following a mistake in an earlier step.

	
	

	SC
	Special case. Marks awarded within the scheme for a common misinterpretation which has some mathematical worth.

	
	

	oe
	Or equivalent. Accept answers that are equivalent.

eg, accept 0.5 as well as 
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Unit 3  Foundation Tier

	Q
	Answer
	Mark
	Comments


	1
	S, 
Q
P or R
	B2
	B1 for any one or two correct.


	2 (a)
	28
	B1
	

	2 (b)
	36 ÷ 2 or 18 seen
	B1
	

	
	10
	B1ft
	28 − their 18 or 36 − their 18 − 8
10 without working B2

	2 (c)
	36 × 2 × 5
	M1
	oe

	
	360
	A1
	


	3 (a)
	Circle, centre (5, 4) radius 3 cm        ± 2 mm
	B2
	B1 Circle radius 3cm incorrect centre or
B1 Any circle drawn on grid, centre (5, 4)

	3 (b)(i)
	A cross on circumference 
	B1
	± 2 mm

	3 (b)(ii)
	A diameter drawn passing through O
	B1
	

	3 (b)(iii)
	A tangent drawn
	B1
	


	(4
	4 × 3 (= 12)
	M1
	

	
	their 12 × 30 (= 360)
	M1
	

	
	their 360 ÷ 25
	M1
	

	
	14.4
	A1
	

	
	15
	Q1 (i)
	Rounding up their 14.4 to next whole number


	Q
	Answer
	Mark
	Comments


	5 (a)
	centimetres
	B1
	Accept cm

	
	litres
	B1
	Accept l

	
	grams
	B1
	Accept g

	5 (b)
	[1.5, 2.2]
	B1
	

	
	their 2 × 6
	M1
	

	
	[9, 13.2]
	A1 ft
	ft must be in range


	6 (a)
	8
	B1
	Accept [7.9, 8.1]

	6 (b)
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× 12 or 3 seen
	M1
	oe

	
	12 − their 3
	M1
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× 12 oe

	
	9
	A1
	


	7 (a)
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	B2
	B1 for 12
B1 for 30
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	B1 ft
	ft a correct cancellation of their fraction.

	7 (b)
	Correct reflection in correct position
	B2
	Reflection in given line, wrong position B1

	7 (c)
	2
	B1
	Accept “two”


	8 (a)
	Fully correct
9 cm and 5 cm and right angle ± 2°
	B3
	B2 two elements correct:
9 cm and right angle or
5 cm and right angle
9 cm and 5 cm
B1 one element correct

	8 (b)
	Correct decision for their angle
	B1 ft
	ft their diagram or their 61°
eg  No and 61° seen
No and less than 70°


	Q
	Answer
	Mark
	Comments


	9 (a)
	4, 3
	B1
	

	9 (b)
	−2, −2 plotted and rectangle drawn 
all lines ± 2 mm
	B1
	

	9 (c)(i)
	vertical line drawn at least from (1, 3) to 
(1, −2)
	B1
	

	9 (ii)
	x = 1
	B1 ft
	ft the equation of their line of symmetry


	10
	10 ÷ 0.57 (= 17.5...)
	M1
	

	
	Their 17.5 ÷ 4 
	M1 dep
	or 4.38…

	
	× 1.65
	M1
	Accept their 4.38 or 5 × 1.65

	
	7.22, 7.23 or 7.24
	A1
	Condone 8.25


	11
	A correct combination for 30:

10 × 3 × 1 or

6 × 5 × 1 or

3 × 5 × 2 oe
	M1
	

	
	Correct drawing of their cuboid base and height or base and depth
	M1
	

	
	Fully correct
	A1
	Penalise any additional interior lines


	(12
	560  or  0.4  or  1.2 seen
	B1
	

	
	3 × 40 or 3 × 0.4
	M1
	oe

	
	560 − their 120 or 5.6 − their 1.2(0)
	M1
	

	
	their 4.4 ÷ 4
	M1
	

	
	1.1 m  or  110 cm
	A1
	

	
	For consistent units used and shown
	Q1 (i)
	


	Q
	Answer
	Mark
	Comments


	13
	14 ² oe
	M1
	

	
	their 196 ÷ 7 or 28 seen
	M1
	Allow seen on diagram

	
	Their 28 ÷ (their 14 ÷ 2)
	M1
	

	
	14 − their 7 − their 4
	M1
	or  3 seen

	
	9
	A1
	


	14
	x + 85 + 45 = 180
	M1
	

	
	(x =) 50
	A1
	Could be seen on diagram

	
	their 50 + 80 + ? = 180
	M1
	

	
	50 and isosceles
	A1
	50 could be seen on diagram


	15
	5 × 8 ÷ 2 oe
	M1
	(= 20)

	
	their 20 + 

	M1
	(= 30) oe
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× h × 10 = their 30
	M1
	ft correct calc with their 30

	
	their 30 ÷ 10 × 2
	M1
	

	
	6
	A1
	


	16 (a)
	−1, −5, −1
	B2
	B1 for one or two correct

	16 (b)
	Their points plotted
	B1ft
	

	
	Correct curve
	B1
	Must be a parabola

	16 (c)
	−0.4 and 2.4
	B1 ft
	Accept [-0.5, -0.3] and [2.3, 2.5]


	Q
	Answer
	Mark
	Comments


	17
	360 ÷ 12
	M1
	oe

	
	30
	A1
	

	
	their 30 ÷ 2 × 3
	M1
	(= 45)

	
	360 ÷ their 45
	M1
	

	
	8
	A1 ft
	


	18
	Correct image in correct position
	B2
	B1 for either 
Translation −2, −3 or 2, −3 or 2, 3
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